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Motivation: game theory for synthesis
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Classical approach
Check the correctness
of a system

Code synthesis
Correct by construction:
synthesis of controller

Game theory
Interaction between two antagonistic
agents: environment and controller
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Weighted Timed Games
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Robust values problem

On Optimal Timed Strategies, T. Brihaye, V. Bruyère and J.-F. Raskin, 2005, FORMATS
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Value problem: deciding if a value is at most equal to λ?

WTG

acyclic divergent 1-clock

Val undecidable

EXPTIME 3-EXPTIME 2-EXPTIME
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A Theory of Timed Automata, R. Alur and D. Dill, 1994, Theoretical Computer Science

Optimal Strategies in Priced Timed Game Automata, P. Bouyer, F. Cassez, E. Fleury, and K. Larsen, 2004, TCS

Optimal Reachability in Divergent Weighted Timed Games, D. Busatto-Gaston, B. Monmege, and P.-A. Reynier,
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